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Sudoku Word Wheel
EASY Answer: MINEFIELD
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Wordladder

Here is one possible solution (others
may exist)

CLAW

CLAP

CHAP

CHOP

COOP

HOOP

HOOF

Trial

3 Letters KID KIND
DEN KIN 5 Letters
DIE YEN DINKY
DIN 4 Letters INKED
5 DYE DENY 6 Letters
END DIKE KIDNEY
INK DINE
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SPOT THE DIFFERENCE

Across: 1 VAMPIRE, 3 WITCH, 5 OCTOBER, 7 MUMMY,
11 GHOST, 12 BLACK, 14 COFFIN, 15 EERIE, 16 BAT, 17
OWL.

Down: 2 MOON, 3 WEREWOLF, 4 TOMBSTONE, 6
TRICK, 8 MASK, 9 COBWEB, 10 SPIDER, 11 GHOUL, 13
CAT.

THE CM CONNECTION




